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CHEMICAL CALCULATIONS WITH THE GAS LAWS FW N(AP\LO3: CH 0ol g [ mol

H']_SOL( (twl)*?',\]o\ HCD\;K S )"\) ’)-k\'bou\ +1C,01 (3) + No\q_SQ«,\ (aq)

Given 25.0 g of sodium bicarbonate and sufficient sulfuric acid, what volume of carbon
dioxide gas would be produced at 25.0 C and 0.950 atm pressure?

1- Convert 25.0 grams sodium bicarbonate to moles. Use FORMULA WEIGHT.
2 - Convert moles sodium bicarbonate to moles carbon dioxide gas. Use CHEMICAL EQUATION.
3 - Convert moles carbon dioxide gas to volume. Use IDEAL GAS EQUATION, PV=nRT
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What volume would the gas in the last example problem have at STP?
STP: "Standard Temperature and Pressure” (0 C and 1 atm)

Pl\}] plvz PI I 0950 4t =4 atim

-

(04950 atim)(7467L)

_\_L _’—I;L: V|:7’é_)L /L__i

(29%.2K)

\J/z,:

P
22961k Tp= 0 =2734LK
_ @abm)(Va)
(273.2K)

$. 6L ot STF

-

Alternate solution. Since, we already knew the moles of gas, we can use PV=nRT...
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